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@ sin0°xcos30°+ cos60° X tan45°

® cos0°xsin90° —tan45° x cos60° =
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@ (1 +sin90°)(1 -cos90°) = 2

@ si112i’)0°—|—cos260°:1

® cos0°xsin90° —tan45°x cos90° =0
@ 2(sin 30° 4 cos 60°) = sin 90° + cos 0°

® sin260° + cos?260° = tan245°
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T sin © cos tan z
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44° 0.69 0,72 0,97
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@ 72 cm? ® 90 cm?
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@ sin(x+y) =0.77
® cosy = 0.82

® tany = 0.70

0.40 0.82 1 E

@ siny = 0.82

@ cos(x+y) = 0.40



25. T 13} Zo] WAE] Aol7t 1 o)1, F47ke] 2717} 35°
H7E ABC 7} 9lc}. A C o4 AB off W&l 4] 9L D e} 3t o,
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@ 1-tan35° @ 1+sin35° ® 1-cos35°

@ 1-sin35° 3 1+ cos35H°
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© A9 go] Z4ag 1, tan A &) FHS FAsitt 715t

© sinA 9] 3T} cos A 9] gho] ZolA= AL AT} 45°
o molrt.
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27. x of B3t o|ALAA 2x2 — 11lx +a = 0 2] T 9] sin90° + cos 0°
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@ sin45° = cos45°

@ cos48° > cos38°
@ tan35° < tan40°® @ sin37° < cos37°
B sin56° < cos 56 °



30. g ®7)E e A° 7]

@ sin30° < cos30°
© tan35° > tan40°

@ sinbH4° < coshH4°

© sin37° < cos37°

® sin36° > cos36°
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31.

30° < A <90° ¥4 o, <51nA+ ) \/(sin30° —sinA)? ©] 3t
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@ 2sinA @ 2 ® =sinA
@ 1 3 0



32. o 1¥9 AABC 4 BC = 200 cm, A
/B = 60° °]1 aABC 9] ¥ o]7}
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tan(A — 15°) = 1 0|4, x> — 2xtan A — 3(tan A)? = 0 2]
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35. th& 18w 2o
7H1 Q1 ARE 2ol A
&35t} OB 9 2o

@ 0.6821

@ 0.7314

wkz]5-9] o] Y4
© E% o]
= 1.0724 C
ohH? 1
A
T
0 B D z
T sinz cosz tanz
43° 0.6820 | 0.7314 0.9325
44° 0.6947 | 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 | 1.0355
47° 0,7314 0.6821 1.0724
@ 0.6947 @ 0.7193
3 0.9325



